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U.G. 1st Semester Exainination-2024
ENVIRONMENTAL STUDIES

[Value Added Course (VAC)]
Course Code : ENVS-VAC-T-1
(Environmental Education)

~ [NEP-2020]
SET-2/2nd HALF -

" Full Marks : 40 - 4 - : Time : 90 Minutes

- Instructions .to the Candidates:

e Candidates will be provided with a question cum answer booklet.

° The booklet contains 50 multiple‘choice questions, each carrying 1 mark. Candidates
will attempt 40 questions from the following (MCQ).

e Candidates must fill up his/her Reglstratlon Number, Year & Roll Number in the
" space provided. '

e Do not make any rough work on the answer booklet.

- ® At the end of the examination please return the answer booklet to 'the ihvigilator. '

Registration No. i v Yéal_'

Roll Number

Signature of the Invigilator
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Answer any forty (40) from the followmg questlons [Choose the correct optlon and put

tick (+/) mark beside given box]: . ' © 1x40=40
fisRe mﬁwﬁeﬁwﬁaﬁmmﬁ%w%m%ﬁmwm [ca—mbﬁ'rr%
(89)]: | |

1. The Forest Rights Act (FRA), 2006 intends to:
T SR W2, 300 9 TR

(1) Recognize marginal and tribal communities’ nghts over forest land over which
they were traditionally dependent |

G Boig 2lfs G ToerSR et SR tnzna%
afgroei Fré e i RS ot T Bt ot

~(2) Empower local self-governance

I F-HAPT TSI
(3) Towards issue of poverty alleviation and pro-poor growth is pald heed to

Wﬁmﬂﬁﬁxﬁﬁﬁmﬁﬁiﬁﬁmmﬁ oraat

(4) Towards conservation and management of natural resources of 'I.ndia'
SRS FRed TR MTFA 8 JIZIAN Tl
Choose the correct option given below:

s oret FAF [ 53 zp—@r

a) Only 1 _
oyig 1-

b) Onlyland2 -
g 1 93 2

c) All of the above 'D

d). None.of the above | , R -
Bl cEl @B ., | _

The Montreal Protocol on substances that deplete the Ozone layer aims to control
the production and use of:

ﬁ% CWW@GWWWWQﬁ@QW\@ wﬁmﬁw mﬁu,-@

(1) Dichloromethane
G

(2) Chlorofluorocarbons
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(3)" Hydrofluorocarbons |
REUGEEIED
Choose the correct option given below:
G e e Rem swmwem:
a) 1and?2only
BT 1 @32 2 5
b) 2 only
VY 2 -
¢) 2and3 only
VYT 2 @R 3 - =
S and 3 only
VYA 1 @3 3 | 5

Soil i . :
o1l erosion and desertification least likely resulted in which of the fo]|

txﬁ%-sf*w AR T, P iy oo <o e STetm TR
a)  Over cultivation

owing cases?

wfsfie 5 7
b)  Unrestricted grazing |
CICHIESAE 7
¢)  Deforestation, poor irrigation practices
T e, 7561 OTb +1afe &
d) Proper resource utilization andl maintenance
AT IARY IR G2 TH 9 5
The term 'environmental pollutant' has been defined as:
AR IS =416 eI w9 2@ @B
a ' |
) Eg:ﬁ%:ﬁgl?hzreﬁiﬁ:s;i :Itlli)stance present in concentration that is
| ﬁﬁ@m@mm,wmmﬁamarmmww s
b) Hazardous substances that are responsible for pollution i |
- TRt Al A e ooy wig) U
¢) Takes into account air, water and nojse pollution
A, T 4R =1 T Rgoeyt g L
d)  All of the above
TR R N

[5]
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Two components of automobile exhaust which can interact to produce secondary

pollutants are:

SBICRIEE RIS 15 S A1 A R e (Tl CTereifs 73 S PC:

a) Carbon monoxide and nitrogen oxides

I ARG R ARG ST

b)  Nitrogen oxides and hydrocarbon
TGS SRARE G RGP

¢) . Carbon dioxide and sulphur dioxide
I TB-STHRT G AT OlE THRE

d) - Sulphur and nitrogen oxides

TR R FIREITE SR
Acid rain is caused by:
i g @ T =

a)  Excess production of coal gas
@ IR SOEE SeAE

b)  Excess release of CO, due to increasing combustion and respiration

A ST AR A-2RIETE e CO, @ Sifsfie Fese
c) - Excess release of SO, and NO, from burning fossil fuels
SR G CAATSIE (6@ SO, 9’ NO, 99 wioiie &
d)  Excess production of gaseous hydrocarbons

TR PG FOE T

[]

[

B Ee o

Under the air act, 1981 which body is empowered to set standard for ambient air

quality?

P SR, Sbrs @ SR @ TS AR aga Wi effael ez e (el QAR

a) Ministry of Home Affairs

b) Central Pollution Control Board
e e Tl o1

c) Ministry of Forest and Environment
'8 AR FFeleT A

d) Ministry of Heavy Industries and Public Enterprises
i e @ sifere Somlal TENET

O
O
]
O
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8.

10.

The hot spot of biodiversity conservation are characterized by: |

[6]

B3 ibe Rwer Hbel 3t am Bive w1 =:

. o

J d)

a)  High endemicity and high threat of extinction
S 7!« Reffem B gl
b) Low endemicity and high threat of ext.inction'
T ! @k R B g
c) High cndemicity and Jow thréat of extinction
B giret @3k Repfis v st
d) Low endemicity and low threat of extinction
T gl 93k R T o
World Environment Day coincides with the commemoratlon of:
e AR et a3 %R e e an:
a)  Montreal Protocol
P o
'b)  Vienna Convention
ot e
¢)  First United Nations Conference on‘Human Environment
R AR R e wifoser sowem
d) Helisinki Declaration -
% carer
Minamata disease is due to pollution of:
T (@ I ﬁamﬁ-n (9 =T ' =
a)  Organic waste into drinking water
b)  Oil spill in water
Industnal waste mercury into ﬁshmg water
wmwﬁﬁ T olw .
Arsenic into atmosphere
e ot

102/Env.Std(N)/2

O

O O O 0O

o o I:I

O O O O

11.

(7]

What is the objective of “polluter pays principle”?

‘eI ol i RS G Ty 2

b

12.

13.

102/Env.Std(N)/2"

a) Pure deterrents effect ]
Rom dfetaigs g™
Retributive effect [
- eforieETe 2o
c) Ensure that the victims of damage are compensated as well as that the :
degradation so caused to the environment is mitigated [
Wﬂmﬁﬁﬁq memavn*nonﬁfofﬁ@mﬁ @ SIFY TR, ©f e 20 @l
ffse s
d) . All of the above ]
CHCERSTC)
'Sustainable development:
AR T .
a) Meets the need of the present w1thout COl’l’lpI‘Ol’IllSlng with
those of future generations O
SRR AT AL AR I FCH TSR LA m%m
b) .Maintains a balance between social and economic development along w1th
. protection of nature n
memmw@wwmmmwmwm
¢) Is consistent with long term development and growth O
- AR S @3 3 e eyl |
d) All of the above 'l
it BT

Environmental education encompasses the issues of:
oifF @“l"‘iﬁ g Rane o @\{@W

(i) Resource consumption -

(i1) Environmental degradatioh' |

(iii) Biodiversity loss
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(iv) Economic empowerment ‘ . | 16.- The most appropriate definition of a natural résourée is that it is a substance/
‘ GRS FrerH ' . R ‘ commodity that is: '
(V) Climate change and its impact o | | < e T=ITTa T THE et A of5 @3 vma]’/ 1o A
W’F‘ ARATS 32 CEECT ~ a)  Present only on land | |
Choose the right option: : T _ | BYAG TS SiCHIC] : . - ,
#3% Tel® @uzae: b) A gift of nature which is very useful to mankind . |
a) i, i, i, iv C agfen ol ol T TRETeR &Y 43R SeT '
b) i, ii,iii, v W c) A man-made substance placed in nature |
¢) ii,iii, iv, v O egfoTs e @b TR ﬂWTQf
d) u and v only 0 d) Ava11ab1¢ only in the forest O
iR v e O] | Y I MW AT
The three R’s that will hel ! 17. Greenhouse effect is warming due to:
Sl P us to conserve natural resources for long term use are: . NTZTH e @ I Tzeo! 3@ W
IR &) ﬁfiﬁs TR AR @ R R i Sn’{m} 1 o - a) Infra-red rays reaching earth . .
- a)  Recycle, regenerate, reuse . SRS T ?jfiﬁﬁ TR S . . .
ST, *[rT, AR - ‘ L] B b) Moisture layer in atmosphere ' "
b)  Reduce, regenerate, reuse ST ST T |
B 9, e, AR O ¢) Increase in temperature due to increase in carbon dioxide
c) Reduce, reuse, redistribute concentration of atmosphere
P, TR, sfem R w O ’Wzawmwﬁm W%Wﬁ@mqﬁ
d) Reduce, recycle, reuse ~d)  Allof the above O
P . B L (G BRG] :
Q1 F91, O FIRE, SRR O :
Which one of the following is th _ A ’ 18. Whlch of the following acts is popularly known as Umbrella Legislation?
v coies “Asinda 217 g e correct defxpntlon of “Agenda 21,,,, ‘ Bpa I SHR(s SEE! iz B Wﬁﬂ? 7
' i ’ g.n aalia bR , B a) The Water (Prevention and Control) Act, 1974 O
| a)  Itis an action plan of UN.O for protecting human rights o IR o (effray ¢ R wiEw, voas _
«fo WﬁW TR &G UN.O 93 93 T sifzmsmt o - D 'b) The Air (Prevention and Control) Act, 1981 O
b) Itis a book of 21 chapters on nuclear disarmament - | g (2feraiy @ ) iR, soby
<5 SART Nalead e 3% SIS @ ?Ff% ® O ‘ . ¢) The Fadtories Act, 1948 -4
c) - Itis an action plan for the sustainable development ' , . FE @ﬁ'ﬂ, Sa8b
«fe ﬁ%ﬁa ST T G 5 oA A O d) The Environment (Protection) Act, 1986 O
d) ltis an agenda for the el - o o . AT (L) WRA, Sob :
ofSAARC election of the president in the next meeting B _
4fb SAARC < #1778 Tmmﬂ%ﬁﬁmaﬁcﬂm | =
[Turn Over]




19.

20.

21.

- ¢)  Exponential relationship

[10] - 102/Env.Std(N)/2

.Under the Constltutlon of India “Forest” and “Protection of w1ld animals and birds"
comes under the:

ST FRUI SR “TH” 4R “I9) en‘c?r aR 9"@'21' m” BIE w’i?m ST ©f 29T
a) State list

ey Siferet -
b)  Union list
T wiferet H
c) Concurrent list
RS it -
d) None of the above -
S R R R -
Climate of the world is threaténéd by:
R I TR ST, Rt Qe
a) Increasing concentration of atmosphenc oxygen
ISR AT T
b) Decreasing amount of atmospheric oxygen
YRS AT SARet e qhe |
¢) Increasing amount of atmospheric carbon dioxidé
d) Decreasing amount of atmospheric carbon dioxide ‘
TS T4 O TS AR | H
Which of the followi ionshi ‘ ' |
B e et s el bt ponest s
fAwa @
P oo waﬂnqﬁﬁa?‘{ WMWWWWW
a) Linear relationsh‘ip '
wRe 1F
b) Inverse relationship
R o

IR FAF
d) No relationship
PN 1 (3

O O O O

O O O

[y ~ 102/Env.Std(N)/2

22. The concept of ‘Tragedy of the Commons’ is most closely associated with which of
the following?

mew'mﬁﬁm@mﬁamﬂm A wiew 2

23.

24.

O O o O

a)  Privatization of property ]
b) Overuse of shared natural resources O
e WW@W@W -
c) Urban migration |

oI TSI
d) Government. spbsidiés for agriculture’ ul
Which of the following best explains the term ‘carrying capacity’ of the Earth?
{2 ‘7o TS X6 FIGCH I A (P 2
a)  The number of people Earth can support with unlimited resources O
SR o i A Fow S A TS AN
b) The maximum population that Earth can sustainably suppoﬁ )
L SRR T O SIS (BRI AR TS AT ;
'c) The weight of biomass on Earth O
L +fRs (eREEd S
d) Earth's total landmass divided by populatlon g
37 Il gRote TRy e T
How does climate change. contribute to ocean acidification?
a) . By increasing UV radiation |
e Rk 3 v
b) By increasing carbon dioxide absorption in oceans
¢) By increasing salinity
el IFIE@
d) By melting glaciers
TR oIt AT MG
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26.

27
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How does climate change threaten biodiversity?
TRy AT SIS GREbQE 266 ™ (FEE?

a) By increasing soil nutrients

o 4 9% v :
b) By creating stable ecosystems ]
2R arEeg tofF I
¢) By altering habitats and Amigration patterns [
SIRMZE IR TSI 416 Ao 7
| d) By reducing natural disasters O
AFhoT qrfist 2 T3 :
The Paris Agreement, 2015, aims to limit global temperature rise to well below:
305¢ AR ﬂﬁﬂmwmm@mmwﬁwwﬁ 1l
a)  1.0°C above pre-industrial levels
AP~ BT CAT 3.0° Gt 7
b) 1.5°C above pre-industnal levels '
SAIE-A131 B AT 5.2 ETEABE =
c) 2.0°C abové pre-industrial levels
I8 BT TR R.0° GTRARRI L
d) 3.0°C above pre-industrial levéls
-5 TR Tl ©.0° Gt =
The Basel Convention is primarily concerned with:
NCTET FACSTHI ST (I R el (e
a) Marine biodiversity
e SRt 2
b)  Trade in endangered species &)
[EERICERIBE) D
c) Transboundary movements of hazardous wastes
fReiese< q0efq SI8:Ae peipe | ¥
d)  Ozone-depleting substances
STRF-TFIRI #fmief A

28.

29:

30.

[13] 102/Env.Std(IN)/2

According to the PWM Rules, 2016, what is the minimum thickness prescribed for
plastic carry bags?

305 AT PWM s Sepicd AifF6eaa Wi Uil &=y A (4 9 2

a) 30 microns I
00 BT

b) 40 microns ]
8o iz@

¢) = 50 microns ]
¢o NZGH

d) 60 micron ]

| \BOW

What is the role of the Local Body under the Plastic Waste Management Rules, 20167
255 T e RESE, K05y @ SR ZIE ALZH Bl 17

a) Granting environmental clearances
ARHTS RICHG FIH

b) Monitoring usage of plastic in industries
e 2FEEs IR 2R

c) Establishing waste collection, segregation, and disposal systems
o FaE, AAEd Gk e gl dfowt
d) Controlling plastic imports

A5 S FEEd 41

Which of the following is NOT a function of the Central Pollution Control Board
(CPCB) under the E-Waste Rules, 20167

3-qaf &R, 205 3 IR (TR 739 FEE @16 (CPCB) 9 (i FIEH MEFEIRCEE
0y A0S 12

et B R E]

a)  Granting authorization to producers o)
CAMTI S &l

b) Coordination with SEEBSs e i
SPCB-@3 it (3

c) Preparing guidelines for collection [4]
FREICZH G I &S T

d) Imposing penalty on illegal importers ]

SletiomierarcrvEavk ERERIRIR SRR [Turn Over]
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34.
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Which agency in India is responsible for certifying “green crackers”?

SIS (Bl FZ TG Ao A Rr=ita ey wid 2

a) ISRO [
b) CSIR-NEERI (]
c) = FSSAI ]
d) DRDO [i&]
Which of the following statements is true about biodiversity hotspots? '
GRIAMDCAT 516 7510 fsfiRs @i Rl 7oy

a)  Hotspots have the highest number of globally invasive species ]

L2efeTe Rttt S erenfon ket s @R
b)  They are low-priority areas for conservation due to habitat loss =

SIPTEET FROT B @l SR Ty 0 WalRepiiaes @
¢)  They are rich in endemic species and face exceptional levels of threat ]
' a@%gﬁmﬁ@%ﬂm&ﬁ%ﬁ%@%ﬂ%

d)  All biodiversity hotspots are found in temperate regions
m%&m%ﬁwﬁﬁmwwmﬂemw =

The primary objective of the People’s Biodiversity Register is:

GRS G T 2l Sy 2a:

a)  To document forest cover in protected areas

RIS G ISR ARge w9 L
b)  To record traditional knowledge and local biodiversity .

AR I IR ZIT STy @ e L
¢) To list endangered species for IUCN

SR 2 1 = -4 & ot ermifen wiferet tof -
d) To enforce wildlife protection laws ‘

TR e S efcatel w1 L]
Which of the following pollutants is : |
during the bursting of fglrgcrackers? A i e e In large quantities
SS*AfEr I 7 fafoifie @i e e e o) AR Fof 2
a)  Carbon monoxide i

FI TR u
b) Ozone °

STEl O
¢)  Sulphur dioxide

AT CRSTHRG U
d) Methane

[BIRE U

855

36.

3
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Under which legal framework-is the People's Biodiversity Register mandated in India?

ST (I 2 PR SR GALIeT SI<Cfowy s qarorE 2

"a)  Wildlife Protection Act, 1972 S
EC R R R ACIECRPELEY
b) Forest Rights Act, 2006 \ ]
3 SIfEE wied, 200V :
c) Biological Diversity Act, 2002 ]
e (3l o, 2003
d) Environment Protection Act,1986 ]
AT T SIZH, SovY 7
Which of the following is a major challenge in sustainable resource management
globally? |
AT (B3 e TIZIPAR oA (I @5 T Biieeie ?
a)  Abundance of renewable resources [
RIS AT g
b) Equitable distribution of resources ]
FATR AN T |
¢) Overestimation of resource reserves [
d)  Strict enforcement of environmental laws ]
AR5 SR LI ATl
A major challenge in managing renewable resources 1ike forests is:
0T St FRAAFCIS] T G (R G I8 B 2
a) Limited global demand ]
Hifvre i oifza
b) Political instability ]
¢) Unsustainable exploitation and illegal logging ]
SR (el Ga ST 15 6! -
d) Inaccessibility of forest areas &
BRI G BRI
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38.

39,

40.
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Integrated Water Resource Management (IWRM) focuses on:
S T i IPE (IWRM) FaifeiRs Remefi Saig @ o
a)  Privatization of water resources |:|
& FAAWE (AR
b)  Sectoral management of water
G Arefefes Fgiem! -
¢)  Coordinated development and management of water, land and
related resources
T, B @ B i ST B @R BIEED) 2
.d) Emphasizing only groundwater recharge : :
LA GITSE R 2JH<2IEE Boid (S (rem) 3
o it 0 s s DBl gt bl i
ORI BT IRPIET R ‘
% (SDG) ﬁiﬁqwm@ﬁqﬁ@wm Wm TR T
)N SEIGulS
b)  SDG 15 L]
)RS L]
d). SDG?9 L]
Which of the following is not a direct consequence of deforestation? Kl
ftsa D = SEI0wE TR AR w7 2
a) Loss of biodiversity
Sraoea e u
b) Increased carbon sequestration
I Aeen i - L]
¢) Disruption of wéter cycles
e IS e
d) Soil erosion .
i = | ETE

41.

42.

43.

[z hE- 102/Env.Std(N)/2

Which type of forest is most vulnerable to desertification due to deforestation?

< BT B P TR T SPgire 2ifere rewis i A &2

a) Tropicai‘ rainforest ' I

b) Temperate déciduous forest ' . | ]
Aiforere A0

¢) Dry deciduous and scrub forests | - o
< FGIID! R @HPRIG <= |

d) Mangrove forests ' ' 3

WIS 94 i3
In terms of the IPAT equation (Impact = Population x Affluence x Technplogy), which
of the following contributes most to environmental degradation in developéd

countries?

[PAT TR (2O = TR X T x o) s, Tre osREe CIRIGRRS]

a)  High population . ‘ O

T G | 2
b) Advanced agricultural techniques

Tere R (ST _ D
c) High levels of consumption (Affluence)

R ERCOIGRIEDY g
d) Lack of technology

agfeq ool

The concept of "Ecological Footprint is used to measure:

“qigets ~mibz #AREIe

a) Biodiversity in a region 3]

G35 T R 1
b) Human demand on Earths ecosystems

f2ifra et TS oIl &
¢) Global temperature rise

fom sTreE 3 o
d) Sea level changes
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44.  Which of the following is an outcome of climate chap
environment interaction?

45.

46.

a)

b)

c)

d)

Which of the following best represents the goal of environ

a)

b)

c)

d)

Which of the following is NOT a criterion for
Importance under the Ramsar Convention?

AR FACSTH S TS o
Ta?

a)

b)

c)

d)

[18]

SRS AR 2T 063 @ieio Sa-wifcaca R T oo e

Cultural diffusion

AFfoT [

Coastal flooding and displacement
TAFEARI F1 IR ZpIfS
Technological innovation

oIS Tl

Population pyramids

SR faifEne

To increase knowledge about natural resources
AP H2{¥ ik o 3 =31
To develop skills in environmental science

AR e v Rt 1

- To promote sustainable behaviour and decision-making
(TR SIS &% 71 st el
To teach conservation laws

LY B2 (I

Supports vulnerable, endangered or critically €ndangere( species
el o 1 ewomens R ereifon sme g

Has high annual rainfall throughout the year

A T2 4 T AR IBoire 77

Supports plant and/or animal Species at a critical stg

Sfen @k / %Al m&ra@mwﬁwwﬁ%@wﬂmwgﬁm
Regularly supports 20,000 or more waterbirds :

FRfIE 20,000 3 O @ TR e

mental education?

g€ In their |ife Cycles

102/Env.Std(N)/2

ge that directly impacts human-

] e 55 0 S 5

(e e =" (5]

]

identifying Wetlands of Internationa]

[

O

[

47,

48.

49,

119]

' ion i bodies 1s ma indy caused By
Eutrophication in water bo ry
= ANERe I Wo:
gy [AERe
TR 2O QIR
a)  Heavy metals

NSNS

SEIE) :
b) Radioactive substances
ot i ' ;
) Nutrient enrichment (Nitrates and Phosphates) |
c u
oifts SFapaeeel (RWP AR TFIHCED) i
d) Oil spills
e i ental public awareness campaigns?
i 1 ] of environm '
What is the primary goa
spTaea eliiee T Je :
ATl GARBOTORLTP RIESS
s
a)  To increase sales of green produc
S sicea R g 9 P :
b)  To promote tourism in natural p :
Agfes SHe opefG &oE
b i e environment
2) * To change behaviors and attitudes toward th
¢) * To chang v
i 2 Spad R TSI 911‘?1?!:"* 4
d)  To gather data for scientific researct
T e hed on which date? .
Swachh Bharat Abhiyan was officially launc
?
e W;:W srpiFEed (@ il i T ? N
EEAEIV] T
a) 26 January 2014 :
QY Gl 2058
b) 15 August 2014 :
S @ SI5PT 058
¢) 2 October 2014 :
L S(FRA k058

d) 5 June 2015
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50 The ‘Swachh Bharat Mission aims to achleve whlch of the followmg UN Sustamable
Development Goals (SDGs)?

wwﬁﬂmw’zﬁmﬁm WWW(SDG)W%WW?

'a) SDGI- No Poverty _ ' o ) . 0
SDG - wiffuse ¥4 N .
b) SDG 6 - Clean Water and Sanitation I
SDG v - R &1 =% R - -
. ¢) SDGI3-ClimateAcon - n
SDG S - B NS S
d) SDG 11 - Sustainable Cities and Communities . ' O

SDG 53 - (31 XIZd O} T2



